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SHLP AR 4 B Y en o dadr+ R IZ (Pascal’s principle) > R A 5F 7€ R 72 (Archimedes’
principle) - i& 4 = #%(the equation of continuity) - 4p % 4 = #2(Bernoulli’s equation) - (20%)

2z ~ In Fig. 1, a proton is a distance d/2 directly above the center of a square of side d. What is
the magnitude of the electric flux through the square? (Hint: Think of the square as one face
of a cube with edge d. (20%)
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7 ~InFig. 2, the ideal batteries have emfs ¢; =150 V and ¢, =50 V and the resistances are
R; =3.0 2and R, =2.0 Q. If the potential at P is 100 V, what is it at Q? (20%)
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*I Fig.2




